
https://www.pass4itsure.com/omg-ocup-200.html
2024 Latest pass4itsure OMG-OCUP-200 PDF and VCE dumps Download

 

 

 

OMG-OCUP-200Q&As

OMG-Certified UML Professional Intermediate

Pass OMG OMG-OCUP-200 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/omg-ocup-200.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by OMG
Official Exam Center

 

 

OMG-OCUP-200 VCE Dumps | OMG-OCUP-200 Study Guide | OMG-OCUP-200 Exam Questions                               1 / 4

https://www.pass4itsure.com/omg-ocup-200.html
https://www.pass4itsure.com/omg-ocup-200.html
https://www.pass4itsure.com/omg-ocup-200.html


https://www.pass4itsure.com/omg-ocup-200.html
2024 Latest pass4itsure OMG-OCUP-200 PDF and VCE dumps Download

QUESTION 1

A protocol state machine can be used to describe which aspect of a component? 

A. internals of a component 

B. configuration of an assembly 

C. signal flow among connectors 

D. external contract of a component 

Correct Answer: D 

 

QUESTION 2

What does reaching the terminating pseudostate mean? 

A. The final state has been reached. 

B. The enclosing region is completed. 

C. A completion transition has occurred. 

D. The "do" activity of the current state has completed. 

E. The context object of the state machine is terminated. 

Correct Answer: E 

 

QUESTION 3

What statement is true if a port delegates to multiple ports on subordinate components? 

A. multiple delegation is not allowed 

B. subordinate ports must be type compatible with the delegating port 

C. subordinate ports must collectively offer the delegated functionality of the delegating port 

D. at execution time, signals will be delivered from the subordinate ports to the delegating port 

Correct Answer: C 

 

QUESTION 4

Which is a correct representation of multiple extension and generalization/specialization? (Choose two) 
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A. Option A 

OMG-OCUP-200 VCE Dumps | OMG-OCUP-200 Study Guide | OMG-OCUP-200 Exam Questions                               3 / 4

https://www.pass4itsure.com/omg-ocup-200.html
https://www.pass4itsure.com/omg-ocup-200.html
https://www.pass4itsure.com/omg-ocup-200.html


https://www.pass4itsure.com/omg-ocup-200.html
2024 Latest pass4itsure OMG-OCUP-200 PDF and VCE dumps Download

B. Option B 

C. Option C 

D. Option D 

Correct Answer: CD 

 

QUESTION 5

Triggers on two different transitions originating from two states at different levels of the same state are simultaneously
enabled (as shown in the exhibit). What does this mean? 

A. The state machine is not well-formed. 

B. Both transitions are taken in arbitrary order. 

C. More deeply nested transitions take precedence over those with less depth. 

D. The less deeply nested transition takes precedence over those with more depth. 

Correct Answer: C 
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